Integrace metodou per partes
1) jxsinxdx:—xcosx+sinx+c
x° 1
2) J'lenxdx:—(lnx——jdrc
3 3
3) Ixcos3xdx=%xsin3x+%cos3x+c
2 1(5 2 1. .
4) Ix S|n2xdx:—z(2x —1)c032x+§xsm2x+c
5) J.In(x+3)dx:(x+3)-|n(x+3)—x+c
6) Ixzarctgxdx :1x3arctgx—lx2 +1In(1+ x2)+ c
3 6 6

7) | arctgy/x dx = xarctgy/x —/x +arctgy/x + ¢

3
8) J'Inxzxdx:—%(ln3 x+3In?x+6Inx+6)+c

9) jx-tgzxdx:xtgx+|n|cosx|—x?2+c

10) j(3x+2)ede=eX(3x-1)+c

1) [x’e ™ dx=—x"e™ —2xe™* —2¢ ™ +¢

12) j(3x+1)cosxdx=(3x+1)sinx+3003x+c
13) J'er3"dx=§xesx—gesx+c

x® +6x

14)I(x2+2)lnxdx= Inx—%x3—2x+c

x-1 x-1 1
15) |arctg=—— dx = xarctg—— ——In|{x*> +1)+ ¢
) I gx+1 gx+1 2 ( )



16) J'arcsinxdx: xarcsinx +v1-x* +¢

17) J'(x+ 1)-In(x2 + 2)dx =%(x2 +2x+ 2)In(x2 + 2)—%()(2 + 4X)+iarctg%+ c

V2

18) [(x* —3x+2)e" dx =e*(x* —5x+7)+c

19) jarctg\/2x—1dx=xarctg\/2x— - '2)2(_1 +c

X
sin? x

20) j

dx = —xcotgx +In[sin x| + ¢



